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10- Multiplying fractions

1. Match the calculations to the correct answers.

1,4 2 4 4 2 3,
o R R o e
3 5 3 5 3 5 3

ultiplications.
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4. 120 men and 80 women were asked if they drive to work.
Altogether i— of the people said yes.

1
37 of the men said yes.

What fraction of the women said yes?

5. There are 25 boys and 32 girls in a club.

%0}‘ the boys and

’% of the girls walk fo the club.

The club leader picks at random & chi

Work out the probability that this child

| m the children who walk to the club.

6. Danny s?}a;’e ‘ 0 20 sweetls with his friends.

of the sweets.

]
. He gives Ann10 of the sweets.
keeps the rest for himself.

E—%‘éw many sweets does Danny keep for himself?

(o7}
-
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7. A box contains 200 tissues.

Toby takes % of these tissues.

Work out how many tissues he takes.

8. There are 800 people on the train at Manchester.

1 of these 800 people are children.

10

1

(a) (i) Work out 70

%of those 800 people are women.

(i) Work out%of 800

The rest of the BOOpeople are men.
(iii) Work out the number of men on the train.

: 3200f the 800 people are under 21 years old.
’(b) Work out 320 out of 800 as a percentage.
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9. There are 24 men in a room.
1 . .
5 of the men are wearing a red shirt.
-;— of the men are wearing a green shirt.

The rest of the men are wearing a blue shirt.

Work out the number of men wearing a blue shirt.

10. Findi of 16.

11. Work out g of 210 cm.

12. Work out g— of 200
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13. Dora is working-out 3%)(% 3Lxe=3r gy %

Use Dora's method to find 2 1 X

aIN

1
3

14. Work out these multiplications.

2 1
Z x24
a)23 3

11 x 3 1 a whole number?

15. Is the answer 5

Yes No

xplain your answer.
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1
18. Dave worked 1 5 X 5

out He wrote

The answerof 5 % is wrong.

Describe one mistake that Dave made.

&5 17. There are 240 counters in a bag.

The counters are green or yellow or blue
'g“ of the counters are green.
% of the counters are yei%o:

Work out the number of blue counters in the bag.

.3 4
e yalues §§J{x§-, }’m%%}?’%iﬁ =g

C) xyz

(31
o
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11= Dividing Fractions

1. Work out:

a)

Wi

1
76

o |
win

c) 5+

3
d)ﬁ)-e-S

2. a)How many pieces o 2 M long can be cut from a length of 9 m?

Fea of a triangle with a base of 3 -g cm and perpendicular

1
2 zcm.

c) A parallelogram with a base of 3.25 cm has an area of 12.6 cm?
Use fractions to work out the height of the parallelogram.
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3.

1 1
if G,—-«17 and b = 3§

{a) Find the value of ab,
Give your answer as a mixed fraction in its simplest form.

{b) Find the value of a+b
Give your answer as a mixed fraction in its simplest for
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2
4. In the first round of a gymnastics competition, James is given a score of 2 1
His score is later revised to account for the difficulty in that round.

His new scoreis 22 x 1 1
11 12

(a) What is his new score?

Give your answer as a mixed fraction.

(b) In the second round of the competition, James scores 7 3

His score is again revised.

: - 1.2
His score isnow 7 5 3

What is his new score? - -

Give your answer as a mlxed fraction.
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Natasha is cutling up rope.
" She has 900 cm of rope.

2
Natasha uses 5 oftheropetotieupa parcel.

She uses -13- the rope for a craft project.

(a) What fraction of the original rope remains?

Give your answer as a fraction in its simplest form.

(b) Natasha then cuts up the remaining ropek inié four equal pieces.
What size, in cm, is each of these qufaz pieces of rope?
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